
CASE SAMPLE PAPER – 2019  
Class :  VII Nishtha (Mathematics) 

le;  :   2½  ?kaVs                 vf/kdre vad % 50 Time :   2½  Hours                    Max. Marks    : 50 
lkekU; funsZ”k % 1. lHkh Á”u vfuok;Z gSaA 2. d`i;k Á”u&i= dk mÙkj fy[kuk “kq# djus ls igys] Á”u dk Øekad vo”; fy[ksaA  3. bl Á”u i= esa dqy 22 Á”u gSa] tksfd pkj [k.Mksa v] c] l vkSj n esa foHkkftr gSA   4. [k.M v esa dqy 5 Á”u gSa] tks lHkh 1 vad ds gSA 5. [k.M c esa dqy 9 Á”u gSa] tks lHkh 2 vad ds gSA 6. [k.M l esa dqy 5 Á”u gSa] tks lHkh 3 vad ds gSA 7. [k.M n esa dqy 3 Á”u gSa] tks lHkh 4 vad ds gSA 8. iz”u&i= esa dksbZ lexz fodYi ugha gSA rFkkfi 3 vadksa okys 1 iz”u esa vkSj 4 vadks 

okys 1 iz”u esa vkarfjd fodYi iznku fd, x, gSaA ,sls iz”uksa esa vkidks fn, x, 
fodYiksa esa ls dsoy ,d iz”u gy djuk gSA  9. dSydqysVj dk Á;ksx oÆtr gSaA General Instructions: 1. All the questions are compulsory. 2. Please write down the Serial Number of the question before attempting it. 3. The question paper consists of 22 questions and it is divided into four sections A, B, C and D. 4. Section A comprises of 5 questions carrying 1 mark each. 5. Section B comprises of 9 questions carrying 2 marks each.  6. Section C comprises of 5 questions carrying 3 marks each.  7. Section D comprises of 3 questions carrying 4 marks each.  8. There is no overall choice. However, an internal choice has been provided in 1 question of 3 marks and 1 question of 4 marks each. You have to attempt only one of the alternatives in all such questions. 9. Use of calculator is not permitted.  

[k.M v (Section A) 
1. ,d f=Hkqt esa fdrus dks.k gks ldrs gSa\       ① How many angles can a triangle have?  



2. 5 iSls dk 5 #i;s ls vuqikr Kkr dhft,A      ① Find the ratio of 5 paise to 5 rupees. 3. tk¡p dhft, fd 6 lseh] 8 lseh vkSj 10 lseh Hkqtkvksa okys ,d f=Hkqt dh jpuk 
dh tk ldrh gSaA          ① Check whether a triangle with sides 6 cm, 8 cm and 10 cm can be constructed. 4. (3)0  dk eku Kkr dhft,A         ① Find the value of (3)0. 5. nh xbZ vkdf̀r esa ?kw.kZu lefefr dk Øe crkb,%     ① Give the order of rotational symmetry of the given figure:  

 
[k.M c (Section B) 

6. vius vklikl dh fdlh ,d oLrq dk fp= cukb, ftlesa lefefr gksA ml fp= 
esa lefefr js[kk,¡ Hkh cukb,A        ② Draw a symmetrical picture from your surroundings and also its lines of symmetry.  7. 36 dks vHkkT; xq.ku[kaM+ksa dh /kkrksa ds xq.kuQy ds #i esa O;Dr dhft,A ② Express 36 as a product of powers of prime factors. 8. 1200 ds ,d dks.k dh jpuk dhft,A       ② Construct an angle of 1200. 9. nh xbZ vkdf̀r dk fdrus izfr”kr Hkkx Nk;kafdr gSa \    ② What percent of the given figure are shaded? 

 



10.  ljy dhft,% 76 » 74         ②       Simplify : 76 » 74 
11. 70 cPpksa dh ,d d{kk esa] 30 izfr”kr cPps Ldwy cl ls Ldwy vkrs gSaA dqy 

fdrus cPps Ldwy cl ls Ldwy vkrs gSa\       ② In a class of 70 students, 30% come to school by school bus. How many students come to school by school bus? 12. lR; ;k vlR; fyf[k,%         ② (i) ,d f=Hkqt esa nks dks.k ledks.k gks ldrs gSaA  ¼ lR; @ vlR;½ (ii) ,d f=Hkqt esa rhukas dks.k U;wudks.k gks ldrs gSaA  ¼ lR; @ vlR;½ Write True or False: (i) A triangle can have two right angles. (True / False) (ii) A triangle can have three acute angles. (True / False) 13. fn, x, mnkgj.k dks le>dj fjDr LFkkuksa dks Hkfj,%    ② Fill in the blanks with the help of given example: 25 X 24 X 23 = 25+4+3 = 212 37 X 32 X 34 = ____ = ____ 
14. nh xbZ vkdf̀r esa] f=Hkqt ds cká Hkkx esa fLFkr fcUnqvksa ds uke fyf[k,% ② Write the names of the points lies in the exterior part of the triangles in the given figure: 

 
[k.M l (Section C) 

15. fuEu fHkUuksa dks izfr”kr esa cnfy,%       ③  Convert the following fractions into percent : 
(i) ૡ

૛૞ 
(ii) ૠ

૚૙ 



16. ,d f=Hkqt PQR dh jpuk dhft,] ftlesa PQ = 5 lseh] QR = 4 lseh  vkSj RP = 6 lseh gksA          ③ Construct a triangle PQR in which PQ = 5cm, QR = 4 cm and RP = 6cm. 17. ∆XYZ esa ‘a’ dk eku Kkr dhft,A       ③ Find the value of ‘a’ in ∆XYZ. 

 
vFkok OR 

feyku dhft,%             Match the following: 
f=Hkqt Triangle f=Hkqt dk uke Name of Triangle 

(a)  

 (b)  

 (c)  

  

(i) leckgq 
Equilateral 
  
 

(ii) vf/kd dks.k 
Obtuse angle 
 
 

(iii) lef}ckgq 
Isosceles 
 
 

(iv) ledks.k 
Right angle 

  



18. lR; ;k vlR; fyf[k,%&        ③ (i) ,d vk;r dh ?kw.kZu lefefr dk Øe 2 gSaA  ¼ lR; @ vlR;½ (ii) ,d leckgq f=Hkqt dh ?kw.kZu lefefr dk Øe 1 gSaA ¼ lR; @ vlR;½ (iii) ,d lekarj prqHkqZt dh ?kw.kZu lefefr dk Øe 3 gSaA ¼ lR; @ vlR;½  Write True or False:- (i) The order of rotational symmetry of a rectangle is 2. (True/False) (ii)  The order  of  rotational  symmetry of an equilateral triangle  is  1. (True/False) (iii) The   order  of  rotational   symmetry   of  a  parallelogram    is  3. (True/False) 19. feyku dhft,%          ③  Match the following: 
iafDr & I Column – I iafDr & II Column - II 

(a) (-2) X (-2) X (-2) X (-2) X (-2)   (b) (-1)4 (c)           (-1)7 
(i) 1 (ii) (-2)5 (iii) (2)5 (iv) -1 

 
[k.M n (Section D) 

20. lksuw us ,d jsfM;ks ₹ 250 esa [kjhnk vkSj ₹ 225 esa csp fn;kA mldk ykHk ;k 
gkfu izfr”kr Kkr dhft,A         ④ Sonu bought a radio for ₹ 250 and sold it at ₹ 225. Find his profit or loss percent. 

vFkok OR 
vius {ks= esa gfj;kyh dks c<kus ds fy, jk/kk vkSj lksfu;k us dqN isM+ yxkus dh 
lksphA jk/kk vkSj lksfu;k ds }kjk yxk, x, isM+ksa dh la[;k dk vuqikr 3%4 gSA 
;fn dqy 42 isM+ yxk, x, gkas] rks izR;sd ds }kjk yxk, x, isM+ksa dh la[;k 
Kkr dhft,A Radha and Sonia decided to plant some trees to increase greenery in their area. The ratio of number of plants planted by Radha and Sonia is 3:4. If the total number of plants is 42, find the number of plants planted by each one of them. 21. ∆XYZ dh jpuk dhft, ftlesa ∠Y = 900, XY = 6 lseh vkSj YZ = 8 lseh  ④     gksA     Construct ∆XYZ in which ∠Y = 900, XY = 6 cm and YZ = 8 cm.  



 22. nh xbZ vkdf̀r;ksa esa] dks.k ‘b’ dk eku Kkr dhft,A   ④  Find the value of the angle ‘b’ in the given figures.  

  


